
  

 

 

B.Com. DEGREE EXAMINATION – 
DECEMBER 2018.     

Third Year 

Accounting and Finance 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Why is maximizing wealth a better goal than 
maximizing profits? 

 ö\ÀÁzøu AvP©v©õÚ C»UPõPU öPõshx Hß? 

C»õ£® AvP›US®? 

2. Write short notes on Cost of capital. 
 ]Ö SÔ¨¦ ÁøμP : ‰»uÚ AhUP®. 

3. Explain the significance of financial leverage. 
 {v©¯©õUP¼ß •UQ¯zxÁzøu ÂÍUS[PÒ. 

 UG–332 BAF-31/BCS-31 
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4. Briefly discuss the kinds of working capital. 

 |øh•øÓ ‰»uÚzvß £À÷ÁÖ ÁøPPøÍ 

_¸UP©õP ÂÁ›. 

5. Discuss about dividend policy. 

 £[Põuõ¯ öPõÒøP°øÚ¨ £ØÔ _¸UP©õP ÂÁõv. 

SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. What do you mean by business finance? Discuss 
various approaches to finance function. 

 ÁoP{v Gß£øÁ ¯õøÁ? {v ö\¯À£õmiØS® 

£À÷ÁÖ AqS•øÓPÒ £ØÔ ÂÁõvUPÄ®. 

7. State and explain the different sources of long 
term funds. 

 }shPõ»{v°ß £À÷ÁÖ Buõμ[PøÍ SÔ¨¤mk 

ÂÍUSP. 

8. Briefly explain the concept of capital structure. 
 ‰»uÚ Aø©¨¦ P¸zvøÚ _¸UP©õP ÂÁ›. 

9. What are accounts receivables? Explain the 
factors which affect the size of accounts 
receivables. 

 ö£ÖuÀPÒ PnUS Gß£øÁ ¯õøÁ?  ö£ÖuÀPÒ 

PnUQøÚ¨ £õvUS® PõμoPøÍ ÂÍUSP. 
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10. Analyse the determinates of the dividend policy of 
corporate enterprises. 

 {Ö© Aø©¨¦PÎß £[S Buõ¯U öPõÒøPø¯ 

{ºn°US® PõμoPøÍ¨ £S¨£õ´P. 

11. Explain the factors determining capital structure. 

 ‰»uÚ Aø©¨¤øÚ £õvUPUTi¯ PõμoPøÍ 

ÂÁ›. 

12. Explain the sources of working capital and the 
factors determining working capital needs. 

 |øh•øÓ ‰»uÚzvß ÁÍ[PÒ ©ØÖ® |øh•øÓ 

‰»uÚ ÷uøÁPøÍ¨ £õvUPUTi¯ PõμoPøÍ 

ÂÁõv. 

 

————————— 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER, 2018. 

Third Year 

INCOME TAX 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Define the term “Business” and ‘Profession”. 

 “ÁoP®” ©ØÖ® “öuõÈÀ” GßÓ £u[PÐUS 

C»UPn® u¸P. 

2. What is unrealised rent? 

 øPÁμ¨£hõu ÁõhøP GßÓõÀ GßÚ? 

3. What is PAN? 

 PAN GßÓõÀ GßÚ? 

 UG-333 BCS–32 
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4. What is best judgement assessment? 

 ªP \›¯õÚ ©v¨¥k GßÓõÀ GßÚ? 

5. What is transfer of capital asset? 

 ‰»uÚ ö\õzx ©õØÓ® GßÓõÀ GßÚ? 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Write short note on : 

 (a) Ordinary resident 

 (b) Not ordinary resident 

 (c) Non-resident 

 (d) Perquisite. 

 ]Ö SÔ¨¦ ÁøμP : 

 (A) \õuõμn Si©Pß 

 (B) \õuõμn ©ØÓ Si©Pß 

 (C) öÁÎ|õmk Si©Pß 

 (D) ÷©À Buõ¯®. 

7. Give any eight examples of capital receipts and 
capital expenses. 

 ‰»uÚ Á¸Áõ´US®, ‰»uÚa ö\»ÄPÐUS® 

H÷uÝ® Gmk Euõμn[PøÍ SÔ¨¤kP. 
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8. Compute salary income from the following : 

 (a) Salary @ Rs. 6,250 p.m 

 (b) D.A @ Rs. 3,000 p.m (50% enters for 
retirement benefits)  

 (c) Commission @ 2% on turnover of Rs. 8,00,000 

 (d) Bonus Rs. 6,000 

 (e) PF contribution by employees and employee 
@ 14% of salary 

 (f) Interest credited during the year on PF is @ 
11% being Rs. 5,500. 

  Calculate salary income of provident fund is 
recognised provident fund. 

 RÌPsh ÂÁμ[PÎ¼¸¢x \®£Í Á¸©õÚzøu 

PnUQkP. 

 (A) \®£Í® ¹. 6,250 ©õu® 

 (B) AP Âø»¨£i ¹. 3,000 ©õu® (50% K´Ä 

\¾øPUS PnUQh¨£kQßÓx) 

 (C) uμS ¹. 8,00,000 ÂØ£øÚ°À 2% BS® 

 (D) ÷©¿v¯® ¹. 6,000 

 (E) £o A©ºzx£Áº ©ØÖ® £o¯õÍº ÷\© 

|»{vUS \®£ÍzvÀ 14% AÎUQßÓÚº 

 (F) ÷\© |»{v Ámi 11% Ãu® ¹. 5,500 BS®.  

  \®£Í Á¸©õÚzøu A[RP›UP¨£mh ÷\© |» 

{v¯õP C¸US® ÷£õx PnUQkP. 
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9. Mr. Tendulkar constructed a multistrong building 
at Bangalore consisting 40 flats. Each flat is let 
out @ Rs. 1,500 p.m. Municipal value Rs. 7,50,000. 

 Following are the other particular. 

  Rs. 

 (a) Lift maintenance    15,000 

 (b) Water pump expenses   2,000 

 (c) Garderner’s salary   1,000 

 (d) Watch man salary    2,000 

  Municipal tax paid at 10% of Mr. interest on 
loan for construction of house Rs. 25,000.  

  Compute Income from house property. 

 v¸ öhskÀPº Gß£Áº ö£[PÑ›À J¸ 

AkUS©õi Ãk PmkQÓõº. AvÀ 40 ÃkPÒ EÒÍÚ. 

JÆöÁõ¸ ÃmiØS® ©õu ÁõhøP ¹. 1,500. 

ÃkPÎß |Pμõm] ©v¨¦ ¹. 7,50,000.  

 RÌPshøÁPÒ ¤Ó Â£μ[PÍõS®. 

 (A) ¼¨m £μõ©›¨¦ ö\»Ä ¹. 15,000 

 (B) uspº £®¨ ö\»Ä ¹. 2,000 

 (C) ÷uõmhUPõμß \®£Í® ¹. 1,000 

 (D) PõÁÀPõμß \®£Í® ¹. 2,000. 

  |Pμõm] Á› ö\¾zv¯x |Pμõm] ©v¨¤À 10% 

ÃkPÒ Pmh Phß Áõ[Q¯ ÁøP°À Ámi 

ö\¾zv¯x ¹. 25,000. 

  Ãmka ö\õzx Á¸©õÚ® PnUQkP. 
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10. Compute the taxable income fro the AY 2017-18 of 
Mr. John from the following information given 
you. 

 (a) Expenses on race horses at Hyderabad  
Rs. 4,00,000 

 (b) Expenses on race horses at Bangalore  
Rs. 6,00,000 

 (c) Stock money earned by horses of  

  Hyderabad Rs. 5,00,000 

  Bangalore Rs. 3,00,000 

 (d) He received Rs. 1,26,000 on betting during 
horse races at Hyderabad 

 (e) He won a lottery of Rs. 49,000 

 (f) He earned a income of Rs. 20,000 under 
speculation business. 

 v¸. áõß Gß£Á›ß Á›Âv¨¤ØS›¯ Á¸©õÚzøu 

Á›Âv¨£õsk 2017&18 US RÌPsh 

Â£μ[PÎ¼¸¢x Psk¤iUP u[PøÍ ÷PmkU 

öPõÒQÓõº. 

 (A) øíuμõ£õzvÀ Svøμ¨ £¢u¯zvØS HØ£mh 

ö\»Ä ¹. 4,00,000 

 (B) ö£[PÑ›À Svøμ £¢u¯zvØS HØ£mh ö\»Ä 

¹. 6,00,000 
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 (C) £n¯¨ £n® Dmi¯x 

  øíuμõ£õz ¹. 5,00,000 

  ö£[PÑº ¹. 3,00,000 

 (D) øíuμõ£õzvÀ Svøμ £¢øu¯ `uõmhzvÀ 

ö£ØÓ öuõøP  ¹. 1,26,000 

 (E) »õmh›°À ö£ØÓ öÁØÔ ¹. 49,000 

 (F) FhP ÁoPzvÀ AÁº Dmi¯ Á¸©õÚ®  

¹. 20,000 

11. From the details given below, compute taxable 

capital gain for the A.Y 2017-18. 

Particulars Residential house Jwellary 

Date of sale 4.7.16 16.12.16 

Date of purchase 1.6.85 12.12.91 

Sale proceeds Rs. 55,00,000 18,05,000

Expenses on sale (Rs.) – 5,000 

Cost of purchase 4,00,000 3,00,000 

 On 1.9.15 he purchased a house for Rs. 32,00,000. 

Cost of inflation index 85-86 = 133, 91-92 = 199; 

2016-17 = 1125. 
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 ¤ßÁ¸® ö\´vPÒ ‰»®, ‰»uÚ Buõ¯zøu 

Á›Âv¨£õsk 2017&18US PshÔP. 

 Si°¸¨¦ Ãk |øP 

ÂØÓ ÷uv 4.7.16 16.12.16 

Áõ[Q¯ ÷uv 1.6.85 12.12.91 

ÂØ£øÚ Âø» 55,00,000 18,05,000

ÂØ£øÚ ö\»Ä – 5,000 

Áõ[Q¯ AhUPÂø» 4,00,000 3,00,000 

 1.9.15 AßÖ ¦v¯ Ãmøh ¹. 32,00,000zvØS 

Áõ[QÚõº. Âø»Áõ] SÔ±mk Gs 85-86 = 133, 
91-92 = 199; 2016-17 = 1125. 

12. Give any ten incomes fully exempted from income 
tax. 

 Á¸©õÚ Á›°¼¸¢x •ÊÁx® Â»US ö£ØÓ 

H÷uÝ® £zx Á¸©õÚ[PøÍz u¸P. 

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
DECEMBER, 2018. 

Third Year 

Corporate Secretaryship 

ACCOUNTING FOR MANAGERIAL DECISION 

Time : Three hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Write down the characteristics of Management 
Accounting. 

 ÷©»õsø© PnUQ¯¼ß ußø©PøÍ ÂÍUSP. 

2. Explain the importance of financial statement 
analysis. 

 {v{ø» AÔUøP £S¨£õ´Âß •UQ¯zxÁzøu 

ÂÍUSP. 

3. Given : 

 Current ratio = 2.8 

 Acid-test ratio = 1.5 

 Working capital = Rs. 1,62,000 

 UG–334 BCS–34
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 Calculate : 

 (a) Current assets. 

 (b) Current liabilities. 

 (c) Liquid assets. 

 (d) Stock. 

 öPõkUP¨£mkÒÍx. 

 |h¨¦ ÂQu® = 2.8 

 Aª»a ÷\õuøÚ ÂQu® = 1.5. 

 |øh•øÓ ‰»uÚ® = ¹. 1,62,000 

 PnUQkP. 

 (A) |h¨¦a ö\õzxUPÒ  

 (B) |h¨¦ ö£õÖ¨¦PÒ 

 (C) }º© ö\õzxUPÒ 

 (D) \μUQ¸¨¦   

4. Calculate funds from operations from the 
following Profit and Loss a/c : 

Profit and Loss Account 

Particulars Rs. Particulars Rs. 

To Expenses paid 3,00,000 By Gross profit 4,50,000

To Depreciation 70,000 By Gain on sale of land 60,000

To Loss on sale of machine 4,000  

To Discount 200  

To Goodwill 20,000  

To Net profit 1,15,800  

 5,10,000  5,10,000
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 ¤ßÁ¸® »õ£ |mh PnUQ¼¸¢x {v C¯UP 

ö\¯À£õmøh PnUQkP. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ö\»ÄPÒ ö\´ux 3,00,000 ö©õzu »õ£® 4,50,000

÷u´©õÚ® 70,000 {» ÂØ£øÚ «x 60,000

C¯¢vμ ÂØ£øÚ  HØ£mh C»õ£® 

«uõÚ |mh® 4,000  

uÒÐ£i 200  

|Øö£¯º 20,000  

{Pμ»õ£® 1,15,800  

 5,10,000  5,10,000

5. With the following data for 60% activity, prepare a 
budget for 80% activity. 

 Material : Rs. 10  (per unit) 
 Wages : Rs. 6 
 Factory o/h : Rs. 6,000 (20% Fixed) 
 Administration o/h : Rs. 2,400 (10% Variable) 
 Assume that production at 60% activity is 240 units. 
 öPõkUP¨£mh uPÁÀPÒ 60% ö\¯¼¯UP® 

öPõshuõS®. ÁμÄ ö\»Ä vmh® 80% 

ö\¯¼¯UPzvÀ PnUQkP. 

 ‰»¨ö£õ¸Ò : ¹. 10  (Kº A»S) 

 T¼: ¹. 6 

 öuõÈØ\õø» ÷©Øö\»ÄPÒ : ¹. 6,000  

             (20% {ø»¯õÚx) 

 {ºÁõP ÷©Øö\»ÄPÒ : ¹. 2,400 (10% ©õÖ£õk) 

 240 A»SPÒ 60% ö\¯¼¯UPzvÀ EØ£zv {PÌQÓx 

GÚ AÝ©õÚ® ö\´¯¨£kQÓx. 
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SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. What is Management Accounting? Distinguish 
between Management Accounting and Financial 
Accounting. 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? ÷©»õsø© 

PnUQ¯¾US® {v{ø» PnUQ¯¾US® EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

7. From the following balance sheets of X Ltd. you 
are required to prepare a comparative balance 
sheet. 

Balance Sheet as on 31st December 
2009  2010 2009 2010

Liabilities 
Rs.  Rs. 

Assets 
Rs. Rs.

Equity capital 400  400 Land and Building 400 370

6% Pref. Capital 300  300 Plant and Machinery 400 410

Reserves 200  245 Stock 200 300

8% Debentures 100  150 Debtors 200 300

Bills payable 50  75 Cash 100 140

Sundry creditors 250  350  

 1,300  1,520  1,300 1,520
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 X ¼ªöhm C¸¨¦ {ø» SÔ¨¤¼¸¢x J¨¥mk 

C¸¨¦ {ø» SÔ¨ø£ u¯õº ö\´P. 

 i\®£º 31 B® |õÍßøÓ¯ C¸¨¦ {ø» SÔ¨¦ 

2009  2010 2009 2010
ö£õÖ¨¦PÒ 

¹.  ¹. 
ö\õzxUPÒ 

¹. ¹. 

\©E›ø© £[S•uÀ 400  400 {»® ©ØÖ® Pmih® 400 370

6% •ßÝ›ø© £[SPÒ 300  300 AøÓP»ß ©ØÖ®  

Põ¨¦PÒ 200  245 C¯¢vμ® 400 410

8% PhÜmk¨ £zvμ® 100  150 \μUQ¸¨¦ 200 300

ö\¾zxÁuØS›¯  PhÚõÎPÒ 200 300

©õØÖa^mk 50  75  

£Ø£» PhÜ¢÷uõº 250  350 öμõUP® 100 140

 1,300  1,520  1,300 1,520

8. What are the uses and limitations of ration 
analysis? 

 ÂQu¨ £S¨£õ´Âß |ßø©PøÍ²® 

SøÓ£õkPøÍ¦® ÂÍUSP. 

9. The ratios relating to a company are given below : 
 Gross profit — 15% of sales 
 Stock velocity — 6 months 
 Debtors velocity — 3 months 
 Creditors velocity — 3 months 
 Gross profit for the year ending 31st December 

2002 amounts to Rs. 60,000. Closing stock is equal 
to opening stock. Find out 

 (a) Sales 
 (b) Closing stock 
 (c) Sundry debtors 
 (d) Sundry creditors. 
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 J¸ {Ö©zvß ÂQu[PÒ öuõhº£õÚ uPÁÀPÒ R÷Ç 

öPõkUP¨£mkÒÍÚ. 

 ö©õzu C»õ£® — 15% ÂØ£øÚ°À 

 \μUQ¸¨¦ vÓß — 6 ©õu[PÒ 

 PhÚõÎPÒ vÓß — 3 ©õu[PÒ 

 PhÜ¢÷uõº vÓß — 3 ©õu[PÒ 

 i\®£º 31 |õÍßøÓ¯ 2002 B® Bsiß ö©õzu 

»õ£® ¹. 60,000. CÖv \μUQ¸¨¦, öuõhUP 

\μUQ¸¨¦ Cμsk÷© \©©õS®.  

 Psk¤i  

(A) ÂØ£øÚ   

 (B)  CÖv \μUQ¸¨¦  

(C)  £Ø£» PhÚõÎPÒ  

(D) £Ø£» PhÜ¢÷uõºPÒ. 

10. The following is the comparative balance sheet of 
A Ltd. Prepare a Fund Flow Statement. 

Balance Sheet 
31.12.05  31.12.06 31.12.05 31.12.06

Liabilities 
Rs.  Rs. 

Assets 
Rs. Rs. 

Capital 8,000  8,500 Land 5,000 5,000
P/L appropriation 1,450  2,450 Plant 2,400 3,400
Creditors 900  500 Debtors 1,650 1,950
Mortgage loan — 500 Stock 900 700
  Cash at bank 400 900
 10,350  11,950  10,350 11,950
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 ¤ßÁ¸® A {ÖÁÚ J¨¥mk C¸¨¦ {ø» 

SÔ¨¤¼¸¢x {v Kmh AÔUøPø¯ u¯õº ö\´P. 

31.12.05  31.12.06 31.12.05 31.12.06
ö£õÖ¨¦PÒ 

¹.  ¹. 
ö\õzxUPÒ

¹. ¹. 

••uÀ 8,000  8,500 {»® 5,000 5,000

»õ£ |mh £QºÄ P/S 1,450  2,450 AøÓP»ß 2,400 3,400

PhÜ¢÷uõº 900  500 PhÚõÎPÒ 1,650 1,950

Ah©õÚ Phß —  500 \μUQ¸¨¦ 900 700

    Á[Q°À 

öμõUP® 

400 900

 10,350  11,950  10,350 11,950

11. Define ‘Budget’ and ‘Budgetary Control’. What are 
its advantages and limitations? 

 ÁμÄ ö\»Ä vmh® Áøμ¯Ö. Cuß |ßø©PøÍ²® 

SøÓ£õkPøÍ²® TÖP. 

12. Initial investment =  Rs. 60,000 

 Life of the asset = 4 years 

 Estimated net annual cash flows : 

 1st Year Rs. 15,000 

 2nd Year Rs. 20,000 

 3rd Year Rs. 30,000 

 4th Year Rs. 20,000 
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 Calculate internal rate of return by trial and error 
method. 

Year P/V at 14% P/V at 15% 

1 .877 .869 

2 .769 .756 

3 .674 .657 

4 .592 .571 

 Bμ®£ {ø» •u½kPÒ =  ¹. 60,000 

 ö\õzvÝøh¯ ÁõÌ|õÒ = 4 BskPÒ  

 Gvº£õºUQßÓ {Pμ Bsk öμõUP Kmh® : 

 •u»õ® Bsk ¹. 15,000 

 Cμshõ® Bsk ¹. 20,000 

 ‰ßÓõ® Bsk ¹.30,000 

 |õßPõ® Bsk ¹. 20,000 

 ÷\õuøÚ ©ØÖ® ¤øÇ•øÓø¯U öPõsk AP 

•u½mk v¸¨£ •øÓø¯ PnUQkP. 

Bsk »õ£ AÍÄ 14% »õ£ AÍÄ 15%

1 .877 .869 

2 .769 .756 

3 .674 .657 

4 .592 .571 

——————— 



  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER, 2018. 

Third Year 

Corporate Secretaryship 

PRINCIPLES OF HUMAN RESOURCE 
MANAGEMENT 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. State the nature of human resource management. 

 ©Ûu ÁÍ ÷©»õsø©°ß ußø©PøÍ ÂÍUSP. 

2. What are the merits and demerits of internal 
sources of recruitment? 

 {ÖÁÚzvß AP BÒ ÷\ºzu¼ÚõÀ HØ£hUTi¯ 

|ßø©PøÍ²®, SøÓ£õkPøÍ²® ÂÍUSP. 

3. Define motivation. What are the elements of 
sound motivation? 

 Áøμ¯Ö FUSÂzuÀ J¸ vÓßªUP FUSÂzu¼ß 

TÖPÒ ¯õøÁ? 

 UG–335 BCS–35
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4. Explain the guiding principles of employee 
discipline. 

 öuõÈ»õÍº JÊ[QÚzvØS ÁÈPõmk® 

÷Põm£õkPøÍ¨ £ØÔ ÂÍUSP. 

5. Discuss the aims of workers participation in 
management. 

 ÷©»õsø©°À öuõÈ»õÍºPÎß £[÷PØ¨¤ØPõÚ 

÷|õUP[PøÍ ÂÁõvUP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the functions of a personnel manager. 

 £o¯õÍº ÷©»õÍ›ß £oPøÍ ÂÍUSP. 

7. Elaborate the steps in the process of selection. 

 £o¯õÍº ÷uºÄ ö\´ÁuØPõÚ ö\¯À•øÓPøÍ¨ 

£ØÔ ÂÍUSP. 

8. Discuss the various methods for appraising 
performance of employees. 

 £o¯õÍºPÒ ö\¯ÀvÓøÚ ©v¨¤kÁuØPõÚ 

£À÷ÁÖ •øÓPøÍ ÂÁõvUP. 

9. Give an overview of the various individual 
incentive plans. 

 uÛ|£º FUPzvmhzvß Jmkö©õzu ]Ó¨¤¯À¦PÒ 

SÔzx SÔ¨¦ ÁøμP. 
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10. Explain about different methods of labour wage 
payment. 

 öuõÈ»õÍºPÐUS ÁÇ[P¨£k® £À÷ÁÖ T¼ 

•øÓPøÍ¨ £ØÔ ÂÁ›. 

11. Explain the causes of poor industrial relations. 

 öuõÈ»õÍº EÓÄPÒ ÷©®£hõ©À C¸¨£uØPõÚ 

Põμn[PøÍ TÖP. 

12. Explain the problems of trade unions. 

 öuõÈØ\[PzvÀ GÊ® ¤μa]øÚPÒ £ØÔ GÊxP. 

––––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
DECEMBER, 2018. 

Third Year 

COST ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are objectives of cost Accounting? 
 AhUPÂø» PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

2. State the Advantages of perpetual Inventory 
records. 

 öuõhº ‰»¨ö£õ¸Ò £v÷Ámiß |ßø©PøÍU 

SÔ¨¤kP. 

3. From the following particulars, calculate wages 
under Rowan Plan. 

 Standard Time  20 hours 

 Time Rate   Rs. 6 per hours 

 Time taken  16 hours 

 UG–355 BBCA–33/
  BCS–33
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 RÌöPõkzxÒÍ Â£μ[PøÍ öPõsk ÷μõÁõß 

vmhzvß£i T¼ø¯ PnUQkP. 

 uμ ÷|μ®   20 ©oPÒ 

 ÷|μ Ãu®   ¹. 6 J¸ ©oUS 

 GkzuPõ» AÍÄ  16 ©oPÒ 

4. From the following information find out factory 
cost. 

 Prime cost  – Rs. 1,20,000 

 Office rent  – Rs. 1,40,550 

 Factory rent – Rs. 10,000 

 Oil and water – Rs. 20,000 

 Office Lighting – Rs. 25,000 

 Factory lighting – Rs. 50,000 

 RÌöPõkzxÒÍ Â£μ[PøÍ öPõsk öuõÈØ\õø» 

AhUPzøu PnUQkP. 

 Ai¨£øh Âø»  – ¹. 1,20,000 

 A¾Á»P ÁõhøP  – ¹. 1,40,550 

 öuõÈØ\õø» ÁõhøP  – ¹. 10,000 

 Gsön´ ©ØÖ® uspº – ¹. 20,000 

 A¾Á»P öÁÎa\®  – ¹. 25,000 

 öuõÈØ\õø» öÁÎa\® – ¹. 50,000 
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5. Vasanth Ltd. presents the following results for one 
year. Calculate the P/V Ratio, BEP and Margin of 
safety. 

 Rs. 

Sales 2,00,000 

Variable cost  1,20,000 

Fixed cost  50,000 

Net profit 30,000 

 Á\¢ {ÖÁÚzvß J¸ BsiØPõÚ Â£μ[PøÍ 

öPõsk P/V ÂQu®, BEP ©ØÖ® AvP£m\ 

£õxPõ¨ø£ PnUQkP. 

 ¹. 

ÂØ£øÚ 2,00,000 

©õÖ® ö\»Ä 1,20,000 

AhUP® 50,000 

{Pμ C»õ£® 30,000 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Distinguish between financial Accounting and cost 
Accounting. 

 {v PnUQ¯¾US® AhUPÂø» PnUQØS® 

÷ÁÖ£õmøh SÔ¨¤kP. 



 UG–355 4

7. From the following information compute : 

 (a) Material mix variance 

 (b) Material price variance 

 (c) Material usage variance. 

Standard 

Material Quantity  Units rate Total

  Units  Rs. Rs. 

A 4  1 4 

B 2  2 4 

C 2  4 4 

 8   16 

Actuals 

Material Quantity  Units Total

 Units  Rs. Rs. 

A 2  3.50 7 

B 1  2.00 2 

C 3  3.00 9 

 6   18 
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 RÌöPõkzxÒÍ Â£μ[PøÍ öPõsk ‰»uÚ 

÷ÁÖ£õkPøÍ PnUQkP. 

 (A) ‰»uÚ P»øÁ ÷ÁÖ£õk 

 (B) --‰»uÚ Âø» ÷ÁÖ£õk 

 (C) ‰»uÚ £¯ß£õk ÷ÁÖ£õmhõP. 

vmh® 

‰»uÚ® AÍÄ  Âø» ö©õzu®

 A»SPÒ  ¹. ¹. 

A 4  1 4 

B 2  2 4 

C 2  4 4 

 8   16 

Esø©¯õÚx 

‰»uÚ® AÍÄ  Âø» ö©õzu®

 A»SPÒ  ¹. ¹. 

A 2  3.50 7 

B 1  2.00 2 

C 3  3.00 9 

 6   18 
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8. Product X is obtained after passing through three 
distinct process. Prepare process accounts from 
the following particulars. 

  Process  

 I II III 

Material 5,200 3,960 5,924 

Direct wages 4,000 6,000 8,000 

 Total production overhead Rs. 18,000. 

 In process I  – 1,000 units were introduced for  
Rs. 6,000 production overhead to be distributed at 
100% on wages. 

 Actual output Normal Scrap value

 Units Units Units 

Process-I 950 5% 4 

Process-II 840 10% 8 

Process-III 750 15% 10 

 X GßÓ ö£õ¸Ò £» {ø»PøÍ Ph¢x ö£Ó¨£kQÓx. 

AÁØÔß Â£μ[PÒ R÷Ç öPõkUP¨£mkÒÍÚ 

AuØPõÚ £i•øÓ PnUQ¯ø» PõsP. 

  {ø»  

 I II III 

‰»¨ö£õ¸Ò 5,200 3,960 5,924 

÷|μi T¼ 4,000 6,000 8,000 

 ö©õzu EØ£zv ÷©Øaö\»ÄPÒ ¹. 18,000. 
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 •uÀ {ø»°À 1,000 A»SPÒ ¹. 6,000 

AÔ•P£kzu¨£mhx. ö©õzu ÷©Øaö\»ÄPÒ 

T¼ø¯ Ai¨£øh¯õP öPõsk 100% £Qº¢x 

AÎUPÄ®. 

Â£μ® ö£õ¸Ò \õuõμn G›ö£õ¸Ò

 A»SPÒ A»SPÒ A»SPÒ 

{ø»-I 950 5% 4 

{ø»-II 840 10% 8 

{ø»-III 750 15% 10 

9. The modern company is divided into four 
departments : P1, P2, P3 are producting 
department and S1 is a service department. The 
actual for a period are as follows: 

Particulars Rs. 

Rent 1,000

Repair to plant 600

Depreciation on plant 450

Employer’s liability for insurance 150

Supervision 1,500

Fire insurance for stock 500

Power 900

Light 120
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 The following information is available in respect of 
the four departments : 

Particulars P1 P2 P3 P4 

Area (Sq.meters) 1,500 1,000 900 500 

Number of employees 20 15 10 5 

Total wages (Rs.) 6,000 4,000 3,000 2,000

Value of plant (Rs.) 24,000 18,000 12,000 6,000

Value of stock (Rs.) 15,000 9,000 6,000 – 

H.P of plant 24 18 12 6 

 Prepare the departments account. 

 |ÃÚ P®ö£Û P1, P2, P3 GßÓ ‰ßÖ EØ£zv 

BønPÐ® S1 GßÓ ÷\øÁ BønUS EshõÚ 

÷©Øaö\»ÄPÒ öPõkUP¨£mkÒÍÚ. 

Â£μ[PÒ  ¹. 

ÁõhøP  1,000

G¢vμ «uõÚ ö\»ÄPÒ 600

G¢vμ® «uõÚ ÷u´©õÚ® 450

£o AÎ¨£Á›ß Põ¨¦Öv ö£õÖ¨¦ 150

÷©Ø£õºøÁ 1,500

\μUQ¸¨¦ «uõÚ Põ¨¥k 500

ªß\õμ® 900

öÁÎa\® 120
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 |õßS xøÓ ÂÁμ[PÒ R÷Ç öPõkUP¨£mkÒÍx. 

Â£μ® P1 P2 P3 P4 

ChÁ\v 1,500 1,000 900 500 

£o¯õÍº GsoUøP 20 15 10 5 

ö©õzu T¼ (¹.) 6,000 4,000 3,000 2,000

G¢vμ ©v¨¦ (¹.) 24,000 18,000 12,000 6,000

\μUQ¸¨¦ ©v¨¦ (¹.) 15,000 9,000 6,000 – 

H.P «uõÚ G¢vμ® 24 18 12 6 

 xøÓÁõ›PÒ PnUøP u¯õ›UP. 

10. Compute the 

 (a) Re – Order level 

 (b) Minimum level 

 (c) Maximum level and 

 (d) Average stock level for components A and B 
based on the following data : 

Particulars A B 

Maximum consumption per week (in units) 150 150 

Average consumption per week (in units) 100 100 

Minimum consumption per week (in units) 50 50 

Re order period (in weeks) 8 to 12 4 to 8

Re order quantity (in units) 400 600 



 UG–355 10

 RÌAÎzxÒÍ Â£μ[PøÍ öPõsk PnUQkP. 

 (A) ©ÖöPõÒ•uÀ AÍÄ 

 (B) --SøÓ¢u AÍÄ 

 (C) AvP AÍÄ 

 (D) \μõ\› \μUQ¸¨¦ (A ©ØÖ® B) 
Â£μ® A B 

J¸ ÁõμzvØS AvP©õÚ £¯ß£õk (A»SPÒ) 150 150 

\μõ\› £¯ß£õk (A»SPÒ) 100 100 

SøÓÁõÚ £¯ß£õk (A»SPÒ) 50 50 

©ÖPõ» AÍÄ (Áõμ[PÒ) 8 to 12 4 to 8

©Ö Bøn AÍÄ (A»SPÒ) 400 600 

 

––––––––––––– 


